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12 Write short answers to any SIX parls.
Deline exponential eguation,

5
Solwe: 74 2x=2
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...'*.’:402;3 ff..lzr.g.;_d{ i
..é‘..b,;L;_*.lrinU»:.; (i)
k=2 WS G

Solve the squation by using quadratic formula: 552 +8x 4+ 1=0 :..,":.., L..,&“"éll.r‘ﬁ:@-mfwhh Giiid

Fiud the discriminant; 9x° +25 = Wx 9% + 25 =30x :5,‘_'(: w37 Gv)
Evalume: (4 +dw+ dw* ) (9 + 4+ dw’ Y ;r.‘.‘r,ba = ()
Write the quadratic equation have these roots: 2, -6 2, -blovrlamnn L L s (v
Deline propuriion, --_A--?/"Ju_-'t? (vii)
If _vrr% and v =4 when x = 3 find k., ._’ﬂ'}"’ kisx=3ty=da ytri—. Atviid)
Find a fourth proportional to: 13a%6° _10a81 | 212°0? t52°08 L 10a%b* | 2 E vy (i)

12 Write short answers to any SIX parts,
Define ridional fruction,

”‘{\' _:‘i\‘l'{-“g__ 3} k{\] ot ‘_"" 'lﬂd Aand B, 'iﬂf"l"bf:gk{ B A J“

Define bijective function.

(x4 x=3) " x4 il

ez A ;.".;Im(c:,!jf

-.__e/" "J'L €
IRED iah ” L G

-,i,...g;.ifﬁy‘??o!, (i)

R={(x¥)n=y ~6} &bkt M—fy]yePay<lOfa L=ixixeNaxsst A (iv)
WL={xixeNaxeSand M=(yyePay<]0] ten makerelation R = {(3,5)| 5+ y -0

---;-.-’WL-U"U-'Jl"'*—{\\.\’)—\‘1" Tasd, :rLBI
ITA={,2}.B=(2, 3} und F={(N. ¥} ¥=Xt ], ¥xe A ve B) tud
-érl“ A-BivA=(lL 23

ITA=(l,2 3 4 5 6).8B={2 4 6 Bjfind A -

Define elass limits,

r A=l M. B2, )}}I {v)
Don 1l R.mg_ I
4,05 60 Raf2 4 6 80 (i)

o] ‘{lu‘:_“/.‘d..'l—h‘(?ll- Lviil

Kind the median: 12, 6,7, 3,15, 10,18, 5 12,67, 3,15, 10, |3 S igh e e i)
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12 Write shor( answurs (0 any SIX parts.

How many minutes ar¢ there in twa right angles?

Convetl LA o depree.

§

Find 0, when ¢ =%m , r=35¢cm

af _I_._ ._...I_ o, T 2 l
Prove that: e o Zeosec d i cmﬁ
Define ¢hord of cingle.
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Defire nen-collinenr poinis. ,—-g D P / ’__2_9 —,—-?r:..e ,;d’mﬁhfﬁ,é (i) ’
Define in-center. )'- 2L PSS o D -
Ep A e intyiid
i Sem ISP L AL G0

The Icl}rlh of ench side ol'a rw_r.ul’u uu‘tl-un s Sem measure its perimeter.

Define radivs ol ercle,

u..-j."l—l g}"rv'}' ." OS e U’ i..._,_-‘;.,i.l.m"&...-lﬁf;f :—d’ '(.L‘--i‘,

Lnt L1, Mtcmpl smy THREE yuestions. Ench question earrics 08 murks,
Question No. 9 is eqmpulsory .

I 2

L .l
0 solve the equation: x* B354 =158 x? +54=15x": ,;_{ et () LD
{4 _uset =at(l+m }.f;..u:.._i.,fm...‘i !{nm e =a P mhila é..:.x (2

Show tha the equation 2+ imx re) =0’ has equal roolsif ¢* =4 21+m’)

04 u=b g winu=3 8w 5 g et u i w S 6
[f w varics imversely as the eube c.a['u and w = 5. when u = 3. Findw whien u =0,
04 Find the partial fractions ol 2 11 i ———ll_-l—.l--—- ,_-::.-'(.'W,,-fd_-}; fid
(x4 30" ) (x+3)x"+1)

S B= (23,57 A={1,3579) U=l 2.3.4.5.6,7.8.9. 103/1 L) 7
(ANBY=A'UB

04
MU= {1, 2. 3.4, Govith, GehHmA b bede 50 2088 - 12, 3. 5. 7} then verity
(A r]B Y=AUB
04 -g.r{(?h'.\-§1 _j’dakﬂ"-'& ut':}‘"\}i'lu'p"‘:; il (u b
The length of 32 items are g:_\’_-.n below. lind siondord deviation.
Length i/ [ 20-2223-25 1 26-28[28 31132 M
I'requency = l:,.-' i 3 6 l 12 9 “_! :
¥ 3 ] v # "2 ' ]
U4 .-a.",‘:-"W 2l [ JSESEF L ai A ity = _._ul},sl\;nsil = ,Jpl [ e

If cosB = 3 =2 nd terminal amm of angle 8 is in quadrant I1. Find the values of remnining

trigonometric ratios.
04 Draw two perpendiculer langenis o cirele of radius Sem. ~$r BTt DUSDEE Y (=)

.;.\.. l BT, .mf b fh_n..;h.f CPIN
Prove that perpendicular from the center of a circle on a LhO!‘d L‘Ilbl.‘ci it.
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Prove that the measure of & central angle of & minoe are of a cirele, is double that of the angle
subtended by the corresponding MIAFOT are.
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